Name: o-a-aay Foundation Flus
8th September *
A special edition packet of cereal Corbettmatths
contains an extra 30%. %209, S¢b
The special edition packet contains (9, = -1
546q. .
100 f/f 3 ({/Z 0&
What does the normal packet contain?
B Calculate angle CAB
Y 7
(25@ = {;
25¢cm
- | i F
0 o G i)
Cllpenntdp )
A = FI3F
Solve
x2—6x—16:0 ["X)CL+Z):O
A2 F a0 oxoo 7

Find the volume of this sphere.

i 3
/}%ﬂ’XB

= HB.00F &n’

[3{1‘1’)

Mr Jenkins catches the 11:45am
bus from London to Glasgow.

What time should he arrive in
Glasgow?

The distance between the two cities dn . o Got
is 407 miles. S 53
The bus travels at an average
speed of 55mph. 7ol hours
TREGT F hors LY
o
© Corbettmaths 2015 ;2 ‘09 / P www.corbettmaths.com




Name: o-a-aay Foundaton FIlus
9th September *
The front elevation of a solid shape is a Corbettmaths
circle.

The side elevation of the solid shape is a
rectangle. ( |" tzr
The plan view of the solid shape is a ‘7
rectangle.
Write down the name of the shape.
Calculate the nth term Work out the 80th term.
20 16 12 8 2% - 4 X %o
4 -3 = _94qf
~ b+ A
o 24 -~
Not drawn accurately | The diagram shows three similar
rectangles.
l:l 30em X Work out the value of x.
Y
4cm 12cm 15¢cm (AX [-27 > (9em
x3 X125
Work out the value of y.
3073 0w

Lauren is given a 12% pay rise.
Her new salary is £24,080

What was Lauren’s salary before the pay
rise?

(2

J1 2% = Wogo

%= 95
[00% 2 LI5S 0¢

01216‘0(3

‘J

© Corbettmaths 2015
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Name: o-a-aay

Foundation FIus

15th September

N

The bearing of A from B is 098°,

Corbettmotths

41z Z x3I*F

find the bearing of B from A. 1fg- 91> AF q°
1%
¥ P
A
' o Calculate the area.
4 '//f Give your answer in terms of 1t
z
o ﬂ'x 4
8cm ¢
Yk TTHb
[ cm?
Work out the LCM of 28 and 42
24 = 24T 2 F 14 =

7

LM 122234 7= G4

Sketch y = x3

Sketch y = —x3

A full box holds 50 CDs to the
nearest 10. L

What is the greatest number of CDs
that 8 boxes would hold?

sS4 x8: (34

© Corbettmaths 2015
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Name: o-a-aay Foundation FIus

16th September *
8 52y <3 Corbettmaotths
U8y 1T

y is af integer.

Write down all the possible values

of y.
A circle has area 80cm2. d-10 0915 .
Find the circumference.
e = ] K
7" GO C= 17 Da
e J5-4L.. C> 31.F0Fn
= §-0%¢...
Write as a fraction
-3 |
+ S

> " AS

Without using a calculator, work out.

J 49 x 1011

W S YN0 | ~ Fo0ceoo

; Find the volume of this pyramid
V= Ak :
8cm r=r7 L3 Z

3
- 6cm /o ”C.m
6cm

A= brbs 3

© Corbettmaths 2015 www.corbettmaths.com




Name: o-a-aay Foundation Fius
22nd September Q
Work out the reciprocal of 0.7 = 2- Corbettmatths

(0
| 0 & , L)
7 ke
Not drawn to scale Find x a,tf' bl = Cl
b C %L+ !71 S Lol
17cm 20cm 7//7« #1919 _-_-400
2* > il
s 5 g
¢+ X 2w il = 10-53 b e
Solve
3w+20=9w -10
— 3w/ -Sw
10 = fw - 10
69(/ > 20
w:=>94

James leaves £8000 in the bank for two
years.

It earns compound interest of 5% per
year.

Calculate the total amount in the bank at
the end of two years.

So00 X |05 zoéﬁ/}o

—

Calculate the volume of the sphere.
Give your answer to 1 decimal place.

V2 lf/}ﬂ,r}
:% xT7 x10
3
:QIgfgCM

© Corbettmaths 2015
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Name: o-a-aay Foundation Flus

23rd September *

Shown is a regular decagon. Corbettmaths

E, b= 10 Find the size %f each interior angle
i (80 - 36" - |44
= 3¢ =

36"
N
Expand and simplify

(y - 5)(y - 5)

yt-§y~§j4<l‘f

Sea

A yacht leaves the port, P, on a course that is an equal distance from PB and PL.
Using ruler and compasses only, construct the course on the diagram.
You must show your construction arcs.

Solve 64773)()
3x-2y=14 Zy -
Xx+2§ll=10 ”’Jj __L’:
o T /
%56 R i = 7:7/

© Corbettmaths 2015 www.corbettmaths.com




Name: 5-a-aay Foundaton Flus
29th September *
Find y 7 & 'S T - s 4 CorbettmoOiths

&+ b ¢t " "

b5+ 18" = Y 6cm c

36 + |dg = yt Hy

g2 134 g v [1-bhio 10cm b
Solve 5x +1>9%% + 3

Write down the inequality shown
above

<3

\

- S =93
| 74X +3

Not drawn accurately

Trapezium S and trapezium T are

X3 X similar.
. sc@cm/ T \ Find the size of y.
y 9.6cm QJ: 32 3. 2em
&_—:3/

An asteroid travels at 25 kilometres
per second. do000 femn
How far does it travel in one hour?
Give your answer in standard form. = 4 x |6 &

25 km n | sewnd Sl

(§00 kw0~ [ mingle N

qoa 00 }l/)\, th { ‘.duf

P o i Find the length of RS.
1Yy
| T
y 2| RT3 em

© Corbettmaths 2015
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Name:

5-a-aay

Foungation Fius

30th September

N

CorbettmOtths

Find the area of the circle.
Give your answer in terms of 1t

TxS*
AT "

Factorise x2 - 14x + 48

(+-4)(+-8 )

Factorise x2 + 17x + 60

[1,+5)[7L+n,)

AN Nerdramacarate | Rectangles ABCD and EFGH are
: F G | similar.
cm

B ¢ 8cm
2 Work out the length of FG.

A D e H

qL 6= 144
N Find the bearing of P from Q
Not drawn accurately
N | |“; o
. 25
65

p

6.1154 has been truncated to four
decimal places.

Write down an inequality to show the
range of possible actual values.

b-lIsu< A <6115

© Corbettmaths 2015
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Name:

5-a-aay

Foundation Flus

6th October

o

Find the reciprocal of 1.5 Z/z

2

CorbettmoOiths

Find the reciprocal of 0.15 3/10

5 b

A fish tank has sprung a leak, at the
base of the tank.
5% of the water is lost every minute.

10 0 xo-%é"' #3509
loo -73-50%-% 26-449]

How much water is lost from the tank e
after six minutes?
A A | Find x
15¢m | 75° c K X 15
H X Z G> 75
3 g 7 4 6 M
U W X Y

Write a vector for AM in terms of a and b

e #Qé_

Write a vector for MK in terms of a and

b
s

© Corbettmaths 2015
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Name: o-a-aay Founagation FIus
7th October *
Work out Corbettmotths

79 1o) D
3 -8 7 e 0 -
1 Y + 6 3 4 7 4 g ﬁ
H U o
— +_ —
L (7L
First sock second sock | Natalie has 8 socks in a drawer.

Complete the tree diagram.

" | down its colour and/ puts it bac? into the
drawer. Then Natalie takes out a second

5 of the socks are black. 3 of the socks
are white.

Natalie takes out a sock at random, writes

sock, at random, and writes down its
colour.

Work out the probability both socks are
different colours. T

o) 5 +25 =

W) 25 15 -

20 | I5

Expand
(X+5)(x-1)

2~ A FLE -5
y AR -

Rachel buys a DVD for £18.50.
A year later she sells it for £15.91

What is the percentage decrease in
value of the DVD?

2"}%'06

(85 0@

/4 7

© Corbettmaths 2015
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Name: b-a-gay Founaation Flus
13th October *
The bearing of A from B is 193°, Corbetimiths
find the bearing of B from A.

17 ¢

4>

015

Write down the exact value of Sin 0°

v,

Write down the exact value of Sin 90°

Jennifer is playing darts.

She throws two darts aiming for a
Bullseye. The probability Jennifer hits
the Bullseye on her first throw is 4.
The probability she hits the Bullseye on

her second throw 4.

First throw Second throw

Hit L~

Hit

Miss

Miss

Complete the tree diagram.

i) = & vk -

!

T2
ﬂ[ﬁ/ﬂ?/?){f‘/%: %
f/ { 2 ' -wg

Work out the probability Jennifer hits the
Bullseye at least once.

Sketchy = x3

\

Sketch y = —x3

© Corbettmaths 2015
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Name:

b-a-aay

Foundation rius

14th October

Write 2.39 x 10° as an ordinary
number

o

CorbettmoOiths
Write 0.00034 in standard form

b
1390000 D4 X0
y A
6
5
4
. Work out the equation of line L
2 1 /
| 7 > Jx t
1
[
o] 1 2 3 4 5 |=x
// & Calculate angle BAC.g
10.5cm | Loy X = //0}
X = (os™ é’)
Zz % i
« = X : Qg 367¢
A 8cm /A B

Afish tank has sprung a leak, at the
base of the tank.

5% of the water is lost every minute.

How much water is lost from the tank
after ten minutes?

10
/OO X 0-95 = §9-¢7

© Corbettmaths 2015
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Name:

H-a-gay

Foundation Flus

20th October

Calculate the shaded area

T x4" = 201-9

(9.

o

Corbettmotths

2sl-20l-04l424¢

“ Only £40

Two shops sell the same type of perfume.

A 100ml bottle of perfume normally costs
£40.

s ¢ Normal price £40
E l‘ ! for 100m|

Rebecca says that both offers give the
same value for money.
Is she correct? Show your working.

Moy
S

\\\‘4/// = S0 . 438
L6
Solve
X2+8x+16=0
(4] (x+i )0
L= -
hopA . Shop B
mék’maJ o s She A

Fho for Aooml

400(7 -~ /‘:v/ = g\‘é/o /02!‘

3/177 i
booo = 00 - 30/ ad ”"/-

%%,A o bl W

Calculate the size of angle CAB.

. £
(as ) 4 ’-1{-
o )
> 4o -34H

© Corbettmaths 2015
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Name:

5-a-aay

Foundation Fius

21st October

Cy

The population of a country is

9.08 x 10°

Write the population of the country
as an ordinary number.

Corbettmaotths

10§000

Find x 614';14 s 340
b1~ 3%6

28 1%

Each flowerpot is a cylinder with radius
7cm and height 20cm.
Carl has 50 litres of soil.

How many flowerpots can be filled?

¥.
P 5023 074 H
Carl is filling flowerpots with soil. .2
I ‘-l/)r “L

o y§

N ¥7 ¥y 10 //

> 3073 -2f .* S
-3 § L
2 =+ 3 . 3 77

. [ 2 q
( ( s B & i
23 T ¢ 7 |y
|
N g
© Corbettmaths 2015
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Name:

b-a-aay

Foundation Fius

27th October

Y

Calculate the volume of a cylinder
with height 20cm and diameter

8cm. 1
cm =TT /\

FF = ¥ 4‘1)(' 9\0
3 o

-

CorbettmoOiths

= 1005 308 cm

Draw the locus of all points which are_equ

idis from points A and B.

el

The population of a country is
5.2 million, to the nearest hundred
thousand.

—

2,

200, oo O

What is the greatest possible number of
people that live in the country?

5,149,999

Not drawn accurately

Find the length of BC

"y g7 &
f%¢g =0
20cm
- 36 1 y" > 400
72 = 35‘/
B I_‘C 72|J 3{;/,
7 19 -029cm
© Corbettmaths 2015 WW.COr! ths.




Name: o-a-aay Foundation Flus

28th October *
The price of a house in 2012 was < Corbettmatths
180,000. 1Jooco ¥ lot

On average, each year the house
increased in value by 4%. '
How much was the house worth in JZ 219 19754
201772

Solve S3~Qx=35
b3 -2x -7 $3: 35 +3X
o B 2x = 1%
ol x>g
What is the sum of the interior What is the size of each interior
angles for an octagon? angle for a regular octagon?
L jogo < § ~ 135"

(%2) x40 = 1080

Age Fr'equency ?(‘1 Calculate an estimate of the mean.

0<A<10 5 5 as 240 220 = |F#
10¢A20 59 (25 o

20<A40 ¥ 6 (99

<S¢ 4o

58 How many sides does it have?

168° By 2122 30 s
Shown is one angle from a regular
polygon.
© Corbettmaths 2015
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Name:

5-a-gay

Founaation Fius

3rd November

The mean of six numbers is 5. [.jive
of the numbers are 6, 6,5,3 and 1. =
Work out the sixth number.

Corbettmotths

L)

B

/

ki C

Construct the angle bisector of
angle ABC

Shade the region which satisfies the
conditions:

- Closer to AB than BC
- Closer to A than B.

A solid sphere with radius of length
5cm, is made from a material with
density 4.2g/cm?

Calculate the mass of the sphere.

Tas % mr>
n

3
= /_:)j xTT x$
5235987756 cm”

X 4.t
M= AKXV = 2199 114,

© Corbettmaths 2015
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Name:

5-a-day

Foundation Plus

4th November

2

Test score

(%)

0 1 2 3 4 5 6 7 8 9
Time spent revising (hours)
The table shows the time spent revising

and the test scores of seven students.

CorbettmOtths

Another student has spent 4.5 hours
revising.
Estimate their test result.

S{ 7

A student scored 55%
Estimate how much time they spent

revising.
42

Sketch y = x3

N

g

where x 20

%]

Sketch Y

Aline has equation y =5x — 4

Write down the gradient of the line

il

Write down the y-intercept of the line

(—0J”l/j
T ¢

Faa !

A_\\ /
7\\ /v/ 7cm
V\QC}"

Calculate the perimeter of this sector.

L )/T]')(/4»: ?774

/5,7;'

A3 FZY i

© Corbettmaths 2015
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Name: b-a-gay Founaation FIus

10th November *
S Work out AB Corbettmoiths
A=6x10 B=3OOOO4’ f‘),<[3\ |O“)
Casxig2 3110 b 1o e«
g x 1o
I'g ” !Ol\)

A line has gradient 3 and passes
through the point (1, 5) (7 B 3 X a\

Find the equation of the line.

s _— = ¥|Inasmall vilage, one bus arrives a day.

il The probability of rain in the village is
_ Rain S
.3 // O 06 ‘\\ 0-3.
il “OnTime | If it rains, the probability of a bus being

e _ — Late < | jate is 0.4.
If it does not rain, the probability of a

3. bus being late is 0.15.

2 5’5_ On Time g

. Work out the number of days the bus will

Complete the tree diagram. be late over a period of 160 days.
©-3 £A04*0-|7 %
0.77(0‘/5’:0‘[05/‘ 0)(0.7’7'(
!"/‘
0+-21§ 3 {

/n/.-l31 ’ r =
.Cm =S
X fdr\l/ 5.;

5.7cm 4 |

© Corbettmaths 2015 www.corbettmaths.com




Name: o-a-aay Founaaton FIius
11th November *
Corbettmotths
Calculate the volume of the pyramid
v 5 Ak
~ 4 [ g x ;) o
- : S
= ‘i 5.3 Lm
length, L,om | Frequency MJM fi
| o<tst0 | 2 | S 05
| 10<Ls20 | 11 (5 165
 20<Ls30 | 31 25 F7s
| 30<Ls40 | 12 % G20
40<Ls50 | 25 Gs f

What is the modal interval?

Calculate an estimate of the mean.

© Corbettmaths 2015

1590 <190
L0 <L S§30U
A5 - q cm
4x+1 |7 bt l:2xt Find the perimeter of the rectangle
4 4 -4
X X ZXH b’
2=
2x+9 (7 £ =Y 402 G
At a concert How many women are at the
concert?
the ratio of men to women is 4:5 m Vo
the ratio of children to womenis2:1 | % ¢ ° ] g
( R { 2 g
There are 475 people at the e g il e |
concert. tf{-—S/f' lg = ’q
GF5 19 18

— —  www.corbettmaths.com
29 %5 s [as



Name: o-a-day Founagation Flus

17th November *
Solve the inequality 3x-8>16 CorbettmOiths
Iy 7 Y
1,4

Height, h, cm Frequency 7@) / Work out an estimate for the mean
110<h<120 |/4~ 13 (445 B
120sh<130 /iy 5 Lzst 2390 - 1o = “‘7 .9
130 < h <140 13 2 274

_— . = ==
10 239

A fish tank has sprung a leak, at the 5
base of the tank. o0 X 9:9% =

5% of the water is lost every minute.

i ¥ ER I
How much water is lost from the tank _ :
after five minutes? {00 ~FF-378- ..

12619 sl

Calculate the volume of the cylinder. | S W
Give your answer in terms of 1t 2.5¢m ¢ u
State the units of your answer. '

1 3cm
e iLs /\ d
- ST
s P X $ x 19 2d ap
S T xX{res
bEm < 4
In England, a 1(_)Xn4iéfe’{rair< ?ourney costs | Which train journey is better value?
£6.40 X 1.4 -~ g-9¢ - ; ]
In Ireland, a 20km train journey costs [bln for 59 g,y/,w[
€10.85 tm for €05
Use 1 mile = 1.6 kilometres 2ok p[ar Jo- 75 X M
At the time £1 = €1.40 Jm Ffr £0 5415 ;

Tkt 5 G| e

© Corbettmaths 2015 www.corbettmaths.com




Name: o-a-aay Foundation Flus

18th November *

Factorise x2 - 36 Corbettm0tths

()(ré)()l'é)

The sum of three consecutive (b) Solve the equation and work out
numbers is 51. each number.
Y+ (k1)) 3x 2 44
(a) Form an equation in terms of x -
% 2 = [
K3
6 17, 1%
J J
Find the Highest Common Factor 194 = L+t L3 £33 xS
HCF) of 108 and 72.
el T FL22xTATr3X3
1 5 4\
A @ 3 1 64
J v (7)/ g 7
g% VA
39 Z) 9 e
4 N\ ) z/
EL A HEF & ¢ 32 g3 435 2

In the space below, draw a 70° angle.
Construct the angle bisector.

© Corbettmaths 2015 www.corbettmaths.com




Name:

b-a-qay

Foundation Flus

24th November

e

Expand and simplify
3(2x - 5) - 2(7 - 9x)
f£- 1514 + 14Y

Corbettmotths

AVSRENY

Every year the average wait time to
be treated at Frome Accident and
Emergency is recorded.

In 2017 patients waited 20% less
time than in 2016.

In 2017, patients waited 52 minutes
on average.
Work out the average wait time in

2016. ¢, . GL
’7& = 0 é%,

[00% = b /Hf‘mft/j

30cm

16cm

Three semicircles have been cut
out of a piece of metal.

Find the shaded area

30 X /‘g = L/’(j(]cm—L

{((I//Xo/q)? §5§4€ [/gﬂ”]
o x5 H US> (41 14 [h)

¢80 - 14944 . 2
210:35¢ in"

A fair coin is flipped twice.
The probability of a tail is 0.5.

o5 | 05 x0% 2 g.1s

o _ o9 H o] SRS = 0415 v
(a) Show this information on a tree < : .
diagram F il i e |
(b) Find the probability of at least T AP SR T |
one tail. —
O #5
© Corbettmaths 2015 www.corbettmaths.com




Name: 5-a-day Foundation Plus

25th November *
12cm Corbettmoiths
8cm
[ 7cm N ' (
N 1 l
20cm /1 / t ZO,} X .
= [[dem
Find the area of the trapezium /6 Y 7
4 Find the gradient of the line AB

5y %

Find the midpoint of the line AB

ABCDEFGHU is a regular decagon
JKLMN and AKOPQ are congruent
regular pentagons.

Find x. .
1640+ 19 = |G

Yo<5: g ¢

1wl - 108 < 34"

1§00~ 22 = }Og"

© Corbettmaths 2015 www.corbettmaths.com




Name:

o-a-aay Foundation Flus

1st December

Height (h metres)

—
)
|

21y Frequency 1[#

150<h<155 (| 575 8 (L1
155<h<160 [v75 33 st-475
160=h<165 /425 29 47-115
165<h<1.75 /.7 17 734
175=<h<185 7/ 1 [-4

o _

CorbettmOtths
Calculate an estimate of the mean.

a2 g9 < [ 36k

———

!
€

What is the lowest common multiple
(LCM) of 3\6 and 45.

(7‘ c,/

o)
N
EE,

26 2 AT X3 XD

q’i“ 3)‘3)(( 4’(
E Lems
3 8] ayzr3xdeé

g0

g
T

The diagram shows a logo that is made
up of 5 identical parallelograms.
Find the area of the logo.

Sxlo250m"

z
S/kE" 2 15 0em

always odd

squares than

Which statements below are true?
A Pattern 10 has 11 yellow squares y/

B The number of red squares is /

C Every pattern has morered 2

yellow squares

D Pattern 5 has 11 red squares v

)

v 3 ¥4 g5
R> A v A 7
Pattern 1 Pattern 2 Pattern 3

© Corbettmaths 2015
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Name:

5-a-0ay

Foundation Flus

2nd December

o

Natalie invests £600 for 2 years at 10%
per year compound interest.
How much interest does she earn?

Corbettmotths
‘ ‘ L
boo X 1.1 =2 F3db

Al

80° 0

E S 1

75° 15 S50 #S/
10cm 10cm

Gillian says that these two triangles

are mathemafisally girfritar. (oﬂjw&j

Is she correct?

s

Natalie has 8 socks in a drawer.

5 of the socks are red.

3 of the socks are white.

Natalie takes out a sock at random,
writes down the colour and puts it back
into the drawer and then takes out a
second sock, at random, and writes
down the colour.

54 Red
4
/3 Red 7

4 White

% Red
/5/‘; White

3

73 White

Complete the probability tree diagram.

Work out the probability that the two
socks are the same colour.

cX 5 . o5
San
3

/2;)(‘%;%“ e

Write down the exact value of Cos 60°

<

Write down the exact value of Cos 180°

-/

© Corbettmaths 2015
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Name:

5-a-qay

Founaation Flus

8th December

N

Nicola is organising a concert to raise
money for charity.

Entry to the concert is £4.00

The number of people attending concert
is 800 to the nearest hundred.

749

CorbettmQiths

What is the greatest possible amount of
money she raised for charity?

F49 1% -

yéjz‘z‘i!

Expand (x ﬁﬁ@?ﬁ 2)
Wl

T sy~
Wt -F - |

 Time (t minutes) Frequency _T [ 1 Work out an estimate for the mean
ostst0 B s | Yo
10<t<20 |5 7 . o
Lol A SN, SN ST | 3 = 2
20<t<30 i 2 l S0 P50 =31 = 23 4 376
30<ts40 3¢ 12 ‘ bo
| 40<ts50 45 3 “"'i 155
’;;.,-— B
%1 £ 17,

§=1(),2,3,#,5.87 51;5 i, 12,A3)

M = Multiples of 4 Q
55 v

F = Factors of 40
Complete the Venn diagram

Find P(M u F)

v

A number is chosen at random

A number is chosen at random

Find P(M n F)

A

13 [3
© Corbettmaths 2015
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Name:

5-a-gay

Foundaton Flus

9th December

Write down all the integer values of x
that satisfies -2 <2x<6

=l T 2t

o

Corbettmoiths

’}_)O ) ,) z

Work out

(8x10°) x(3x10")

Give your answer in standard form

26 x 1o
|0

-4 X /0I

Vanessa buys 6 bags of
marshmallows at a total cost of £9.
Each bag says that it contains 20 to
30 marshmallows.

She says each marshmallow costs
op

Explain how Vanessa has reached
this conclusion.

65X 30 ° {gaw%,/é‘,)

200> 140 * 5,0644/1,

Work out the highest possible cost of
each marshmallow

Ex 10 = 120 /rwry{m%/

900 = |70 = 7’5(' (?,aj«

e 0 7 | Calculate the area of this sector.

e e T e

S \\\ Tl q
2 z
: f X T xr
— 7cm y 2 _r -z _ Z
800 /zf x ¥ xZ2°2%30.2cm
© Corbetimaths 2015
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Name: b-a-aay Foundation FIlus
15th December *

There are red, green and yellow Corbettmatths

beads in a bag. If Mrs Jones repeats this 300 times,
The relative frequency of ared is how many red beads are expected?
0.18. S F '
Mrs Jones chooses a bead at 200 X0 § - st

random and then puts it back in.

Work out
.
B+ 3 I
4 3 4 _ 2o, 1
GPE A =i
2x + 5 Find x gl e 374
;. #P
-2 X - 2 e
2%+ = 9
26 6
The perimeter of this rectangle is 84cm X=p5

s, ; - ) | Calculate the area of this semi-circle.
/” \\\ g / il } Leave your answer in terms of 1t

/

| \
3 3/?{'{)(35/ /.(5/77/5/&1/

12cm —
(87
James weighed 100kg. Has he achieved his target after six
His target was to weigh 80kg or less. months?
His weight decreased by 3% each Show your workings.

month.

j00 x .47 % ¢5 wry M

© Corbettmaths 2015 www.corbettmaths.com




Name:

5-a-aay

Foundation Flus

16th December

Michael received a pay rise of 14%.
He now receives £319.20 a week.

What was his weekly salary?

Corbettmaiths
9, = &
00Y. = &, 4 ",

o & BB

Here is a sequence of patterns made
from these tiles.

How many of these tiles are needed to
make Pattern number 87

b, /f':m { o é ?’ X
Pattern 1 Pa‘r‘re-rn 2 Pattern 3 h /% 3 } bi q ‘ -/'(z_.? L | b9
T AN J% S #0436 H47
' 1{ H 1
N

The bearing of person C from person A is 065°
The bearing of person C from person B is 280°

In the space above, mark the position of person C with a cross (x). Label it C.

Write down the exact value of Tan 0°

¢

Write down the exact value of Tan 180°

O

© Corbettmaths 2015
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Name:

5-a-gay

Founadation Filus

22nd December

Cy

The front elevation of a solid shape is a
triangle.

The side elevation of the solid shape is a
triangle.

The plan view of the solid shape is a
square.

Write down the name of the shape.

Corbettmoiths

S?uwﬂ [%‘Mj 67“‘”‘”[

James bought a house.

In the first year the value of the house
decreased by 10%.

In the second year the value of the
house increased by 10%.

(00 ¥ 0'¢ = QU

90X || = 99

Is the house worth more, less, or the
same as what James paid for it?
Explain your answer.

% -

o

Not drawn accurately

%D X
m 4.5cm -
Y

9.6cm

Trapezium S and trapezium T are
similar.

Find the size of x.

Zod ¥ 32 g‘l{[f"‘/

There are 40 children at a youth club.
There are 23 girls.

9 girls play rounders.

4 boys do not play rounders.

How many boys play rounders at the
youth club? / 3

4 6| retd
SR 131 9| A
¥ & 4 14 | 18
7itd ' |7 231 Go

Expand and simplify

W+3)(wW+4) - (W+2)(w+7)

Lt Fw 1R
el

© Corbettmaths 2015
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Name: 5-a-aay Foundation FIus
23rd December *
4 9 , 4 } Corbettmaths
2z+35 | il 1 7
5 3 et “
s T3 5 = bz
42 g3
Sl
T
Z=Y & BE=D

Find the gradient of the line drawn.

-

Find the equation of the line drawn.

Lj:—XLJ(S

The ratio of adults to children at an annual
concert in 2016 is 2:7 and in total 1350
people attended the concert.

The price of an adult ticket is £30 and the
price of a child ticket is £20.

35% of the total ticket sales each year is
given to a charity.

The amount of money raised for charity in
2016 is 25% more than raised in 2015.

Work out how much was given to the
charity in 2015.

af(+-7=07 IZTO.;?:H‘O
[5¢X7 > 3gc AJ“A, fso XF> 050 CLZ&L
FoxZ 23000 1 430000
f05o X 2 LIOL‘Q} ’5]’

Bht of 3ec00 =}’/a‘5 vo

josoe S (15 %

© Carbettmaths 2015
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Name:

b-a-qay

Founaation FIus

29th December

o

The table shows the number of sweets
in 20 bags.

Number of Frequency | )[‘f
sweets
15

23 A 1 =]

24 X 4 | 4

25 £ 9 = | wuf
26 & 3 =z| ¢
L& ¥ 3 = N

Calculate the mean. Corbettmaiths

0% 270 = d9-15

Find the size of each interior angle of a or
regular 40-sided polygon. "3
( - 260 < bo - q
- I
i3 g)x 180 -4~ | 7
24 x 80 (84O
6840 o ~ |Z)°
Expand and simplify
/..<-\ N 1 , ~ 7t
(9 - 7)(2y + 3) [8g " +27y -l
N
|8+ 13 g L1
Calculate lengthy 9
o, X/ 60°
y- tenbo y 4
> 3-8 83T em =

5cm O

Sebastian leaves £4000 in the bank for
three years.

It earns compound interest of 5% per
year.

3
lLogo * |05
= 4430-‘3‘0

Calculate the total amount Sebastian
has in the bank at the end of the three

years.
544/30»5’0

© Corbettmaths 2015
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5-a-aay

Foundation Flus

30th December

o

There are 10 socks in a bag.

6 black and 4 white.

A sock is taken at random, put back
into the bag, then another is taken.

CorbettmOiths
What is the probability of two black

socks?
’y
100

o) b e
= q/z{s

Complete the tree diagr;}n I
b 0 0 _
% __ Black /

What is the probability of two socks of the
same colour? / i
7100

th X 75

74 . S
Wt 7100 ° o

= W

Factorise

X2+2x-15 ()L f§//)[,-3j

Factorise

X2-8x-9

/11 )(sz)

Patrick invested money into a special
savers bank account.

Each year money in the account earns
4% interest.

After one year, the total amount of money
in the account was £291.20

How much did Patrick invest?

joh /e = 41110
17 = 280

A 2180

P > Calculate the size of the angle, 2x + 50.
4x-20 fx-10= 24450
Altonile L= Fo
e P s, <
2x + 50 ¢
-
2 - 120
>l
© Corbettmaths 2015
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